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ARHNO,L + ¢ o ¢ o o o o o o o o0 e e e e e 1EEH-6
i fFETH-8
e N T PP S 15 TH-10
A B Ay I I I I E%Fﬁ'l?)
Y R T T S P S R S P 1EETH-15
iz A R A 1EETH-19
B = T R R EET-21
T 15 H-23
N R T R T 1EETH-25
1A Y, NI S S S S S S S EET-27
INETHNO,2 =+ o v o v e e e e e e e e 1EET-29
INETHNO,L =+ o v o v o e e e e e e e e e 1EE-31
o R T T EET-33
= 7 11 N R mET-35
B T T T PP 15 TH-37
R 155 TH-39
FHODJ « =+ ¢ @ = o o o o o o o o o o o o o o mET-41
LI T T 15 1H-43
3 R I T O EET-46
1iy53 NO,T + ¢ o ¢ o o o v o o o v 0 v v 0 0o 1548

HAENO,2 + » o v o v v o v o e e e e e 1EETH-52

NP/ d

(BELE)


414357
取り消し線


=it & ¥R ik -3

BB K 5L : FWL 69.9|(m)

LS EL 67.0[(m)

=8 IKi%E : H=FWL-EL 2.9({(m)

WETKE:V 6,600({(m3)

= RFHE=(Costa): Qp 61.7|(m3/s)  |Qp=325(H-V)**?

JRigmiE:A 0.29200 [km2

/K ETE: A2 0.00220|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 45|45y Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 45|45 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 110.4{(mm/h)

HKFEE—Y:Q 7.2|(m3/s)  [1/36-f-r-A

RETKIREN.2Q 8.64|(m3/s)

EBYREL =,

LBERFOHMTRICE, Fit&L
THRIASN TSR EHER AR
BEShTW%, BIHIELR (1% -
RELGVDEDD, ERMGTRA
L= ®EF(CRYRKLTLM=K
NEETRARETIHLDLEE
EL. ZEDTHRADRHERE
ROLDRAZICISCTRED

Bl [REBRE|HRKRE|LEXRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 61.70 7.2 68.9
1 35.21 7.1 42.3
2 20.09 70 27.1
3 11.47 6.9 18.4
4 6.54 6.9 134
5 3.73 6.8 10.5
6 2.13 6.7 8.8
7 1.22 6.6 7.8
8 0.69 6.5 7.2
9 0.40 6.4 6.8
10 0.23 6.4 6.6
1 0.13 6.3 6.4
12 0.07 6.2 6.3
13 0.04 6.1 6.1
14 0.02 6.0 6.0
15 0.01 59 5.9
16 0.01 58 5.9
17 0.00 58 5.8
18 0.00 5.7 5.7
19 0.00 5.6 5.6
20 0.00 55 55

|,ﬁ'\\!

F-1 RHEGRBIERE RS ERC

o RHE C | EfE(km2) s &
Pat;akiii! 70 | 0.00220 R FHE R 7200 B G P33
(Lot 290 | 0.28980
7KH 100
M 200
E 70
aFt 0.29200
Taf I 288
IR RE f i i &
Pat;akiii! 1.00 | 0.0022 A FHEEH 720 M | P33
(L 0.80 | 0.2898
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.2920
Taf I 0.80

F&-2 HOKEERR]

REOTEREl EWEE |AURRME gy | PUKENEESR ~
(%) rimm/h)  |re=f+r;(mm/h) re te(min) 2 n
1 45.0 110.4 88.32 0.208 45.69 109.7 0.7
2 451 110.3 88.24 0.208 45.69 109.7 0.6
3 452 110.2 88.16 0.209 4591 109.5 0.7
4 453 1101 88.08 0.209 4591 109.5 0.6
5 454 110.0 88.00 0.209 4591 109.5 0.5
6 455 109.9 87.92 0.209 4591 109.5 0.4
7 45.6 109.8 87.84 0.209 4591 109.5 0.3
8 457 109.7 87.76 0.209 4591 109.5 0.2
9 458 109.6 87.68 0.209 4591 109.5 0.1
10 459 109.5 87.60 0.209 4591 109.5 0.0
11 46.0 109.4 87.52 0.209 4591 109.5 -0.1
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 45.0 110.4 110.4 110.4 7.2
2 90.0 81.1 162.2 51.8 34
3 135.0 66.1 198.3 36.1 23
4 180.0 56.8 2272 28.9 1.9
5 2250 50.2 251.0 238 1.5
6 270.0 453 271.8 20.8 1.3
7 3150 414 289.8 18.0 1.2




FRINBIET L

RMRE=

Bef] | trmommsaomn| D) 200w 2 g BT LRTRE| 4 LR MBRE
R (min) | Q1(m3/s) | Q2(m3) | Q3m3/s) | Qa(m3)
0 68.9 0 66.0 0
1 423 3,337 406 3,198
2 27.1 2,083 26.0 1,997
3 18.4 1,366 17.7 1,309
i 4 134 955 12.8 915
Bip: BeEC 5 10.5 717 10.1 688
e 6 838 580 85 556
e e 7 7.8 500 75 479
t _ #KHEEI-260m ~ 8 72 451 6.9 433
‘ 9 6.8 422 6.6 404
10 6.6 403 6.3 386
11 6.4 390 6.1 373
- BPKBRE=1/2x(29+17) K (R k&) 12 6.3 380 6.0 364
X 4.6 X 260 X 0.5=13,800m3 A=6,000m2 13 61 372 = 357
14 6.0 365 58 350
15 59 359 5.7 345
16 59 354 56 339
17 58 349 55 334
18 57 343 5.4 329
19 56 338 5.4 324
20 55 333 53 319
e 14,397 we 13,800

ik
&

Q3=Q1/3Q2 X BHF LETKE
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F-1 RHEGRBIERE RS ERC

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00060 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.00860
7KH 100
M 200
E 70
aFt 0.00920

Taf I 276

IR RE f i i &
Pat;akiii! 1.00 | 0.0006 A FHEEH 720 M | P33
(L 0.80 | 0.0086
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0092

Taf I 0.81

=& A HNo.1 E

BB K 5L : FWL 26.0|{(m)

LS EL 23.2|(m)

=8 IKi%E : H=FWL-EL 2.8|(m)

WETKE:V 3,000{(m3)

= RFHE=(Costa): Qp 43.66|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.00920 [km2

/K ETE: A2 0.00060|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

W H R E EERFR:t 18|%> RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 18|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 152.9{(mm/h)

HKFEE—Y:Q 0.3|/(m3/s) |1/3.6+fr-A

REHEKGREN.2Q 0.36/(m3/s)

F&-2 HOKEERR]

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 43.66 0.3 440
1 18.23 0.3 18.5
2 7.61 0.3 7.9
3 3.18 0.3 3.5
4 1.33 0.3 1.6
5 0.55 0.3 0.8
6 0.23 0.3 0.5
7 0.10 0.3 0.4
8 0.04 0.3 0.3
9 0.02 0.3 0.3
10 0.01 0.2 0.3
1 0.00 0.2 0.2
12 0.00 0.2 0.2
13 0.00 0.2 0.2
14 0.00 0.2 0.2
15 0.00 0.2 0.2
16 0.00 0.2 0.2
17 0.00 0.2 0.2
18 0.00 0.2 0.2
19 0.00 0.2 0.2
20 0.00 0.2 0.2

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 18.0 152.9 123.85 0.185 18.2 152.3 0.6
2 18.1 152.6 123.61 0.185 18.2 152.3 0.3
3 18.2 152.3 123.36 0.185 18.2 152.3 0.0
4 18.3 152.1 123.20 0.185 18.2 152.3 -0.2
5 18.4 151.8 122.96 0.186 18.3 152.1 -0.3
6 18.5 151.6 122.80 0.186 18.3 152.1 -0.5
7 18.6 151.3 122.55 0.186 18.3 152.1 -0.8
8 18.7 151.1 122.39 0.186 18.3 152.1 -1.0
9 18.8 150.8 122.15 0.186 18.3 152.1 -1.3
10 18.9 150.6 121.99 0.186 18.3 152.1 -1.5
11 19.0 150.4 121.82 0.186 18.3 152.1 -1.7
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 18.0 152.9 152.9 152.9 0.3
2 36.0 120.6 241.2 88.3 0.2
3 54.0 102.3 306.9 65.7 0.1
4 72.0 90 360.0 53.1 0.1
5 90.0 81.1 405.5 45.5 0.1
6 108.0 741 4446 39.1 0.1
7 126.0 68.5 479.5 34.9 0.1
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F-1 RHEGRBIERE RS ERC

o RHE C | EfE(km2) s &
Pat;akiii! 70 | 0.00250 R FHE R 7200 B G P33
(Lot 290 | 0.26850
7KH 100
M 200
E 70
aFt 0.27100
Taf I 288
IR RE f i i &
Pat;akiii! 1.00 | 0.0025 A FHEEH 720 M | P33
(L 0.80 | 0.2685
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.2710
Taf I 0.80

F&-2 HOKEERR]

i | REBERE|BKRE[LEXNZRE
Vit O R LEE T FER -3 (min) [Q1(m3/s)] Q2(m3/s)[Q1+Q2(m3/s)
B S KR FWL 57.3|(m) 0 94.85 6.7 101.6
LS EL 49.9|(m) 1 43.03 6.6 49.7
1= ith K% : H=FWL-EL 7.4|(m) 2 19.52 6.5 26.1
HEPKE:V 7,200((m3) 3 8.86 6.5 15.3
At E(Costa): Qp 94.85[(m3/s)  |Qp=325(H-V)** 4 4.02 6.4 10.4
TEEE:A 0.27100|km2 5 1.82 6.3 8.1
HIKETE: A2 0.00250 [km2 6 0.83 6.2 7.1
r=a/(t"+b) 7 0.38 6.1 6.5
AR E AT BE 8 0.17 6.1 6.2
EREE RN 0.687 9 0.08 6.0 6.1
EREERa 2541.05 10 0.04 5.9 5.9
BEREERD 9.34 11 0.02 5.8 5.8
F-2Tri-r2hoh & 12 001 5.7 5.8

PR E B ERF At 44|15 BN D ESRYIR
LAF 13 0.00 5.7 5.7
REEERFME:tc 44|45y frﬁ;ﬁ?ﬁéﬁﬁﬁg 1 000 o8 >
VT 15 0.00 55 5.5
B ER RN DR TSR ¢ 111.4|(mm/h) 16 0.00 5.4 54
BKREE—Y:Q 6.7|/(m3/s) |1/3.6-f-r-A 17 0.00 5.3 5.3
RETHEKIREN 20 8.04((m3/s) 18 0.00 5.3 5.3
19 0.00 5.2 5.2
20 0.00 5.1 5.1

/.

Ry

/

=S

REOTEREl EWEE |AURRME gy | PUKENEESR ~
(%) rimm/h)  |re=f+r;(mm/h) re te(min) 2 n
1 440 111.4 89.12 0.208 4495 110.5 0.9
2 441 1113 89.04 0.208 4495 110.5 0.8
3 44.2 111.2 88.96 0.208 4495 110.5 0.7
4 443 1111 88.88 0.208 4495 110.5 0.6
5 444 111.0 88.80 0.208 4495 110.5 0.5
6 44.5 110.9 88.72 0.208 4495 110.5 0.4
7 44.6 110.8 88.64 0.208 4495 110.5 0.3
8 447 110.7 88.56 0.208 4495 110.5 0.2
9 448 110.6 88.48 0.208 4495 110.5 0.1
10 449 110.5 88.40 0.208 4495 110.5 0.0
11 45.0 110.4 88.32 0.208 4495 110.5 -0.1
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 440 111.4 111.4 111.4 6.7
2 88.0 81.9 163.8 52.4 3.2
3 132.0 66.9 200.7 36.9 22
4 176.0 57.5 230.0 293 1.8
5 220.0 50.8 2540 240 1.4
6 264.0 458 2748 20.8 1.3
7 308.0 419 293.3 18.5 11

ich

F£1i-10
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=& N/RK -3

W B R KL FWL 29.5|(m)

LS EL 23.4{(m)

=8 IKi%E : H=FWL-EL 6.1{(m)

#Erk=:Vv 10,700[(m3)

KTt = (Costa): Qp 103.29|(m3/s)  [Qp=325(H-V)**

JRigmiE:A 0.03700|km2

/K ETE: A2 0.00180|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 26|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 26|% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 135.8{(mm/h)

HKFEE—Y:Q 1.1{(m3/s)  |1/3.6-f-r-A

REHEKGREN.2Q 1.32|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 103.29 1.1 104.4
1 57.88 1.1 59.0
2 3243 1.1 335
3 18.17 1.0 19.2
4 10.18 1.0 11.2
5 5.71 1.0 6.7
6 3.20 1.0 42
7 1.79 1.0 2.8
8 1.00 0.9 1.9
9 0.56 0.9 1.5
10 0.32 0.9 1.2
1 0.18 0.9 1.1
12 0.10 0.9 1.0
13 0.06 0.9 0.9
14 0.03 0.8 0.9
15 0.02 0.8 0.8
16 0.01 0.8 0.8
17 0.01 0.8 0.8
18 0.00 0.8 0.8
19 0.00 0.7 0.7
20 0.00 0.7 0.7

R

215\ P4

N

R

ich

F-1 RHEGRBIERE RS ERC

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00180 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.03520
7KH 100
M 200
E 70
aFt 0.03700

Taf I 279

IR RE f i i &
Pat;akiii! 1.00 | 0.0018 A FHEEH 720 M | P33
(L 0.80 | 0.0352
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0370

Taf I 0.81

F&-2 HOKEERR]

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 26.0 135.8 110.00 0.193 26.07 135.6 0.2
2 26.1 135.6 109.84 0.193 26.07 135.6 0.0
3 26.2 135.4 109.67 0.193 26.07 135.6 -0.2
4 26.3 135.2 109.51 0.193 26.07 135.6 -04
5 26.4 135.0 109.35 0.193 26.07 135.6 -0.6
6 26.5 134.9 109.27 0.193 26.07 135.6 -0.7
7 26.6 134.7 109.11 0.194 26.21 135.4 -0.7
8 26.7 134.5 108.95 0.194 26.21 135.4 -0.9
9 26.8 134.3 108.78 0.194 26.21 135.4 -1.1
10 26.9 134.2 108.70 0.194 26.21 135.4 -1.2
11 27.0 134.0 108.54 0.194 26.21 135.4 -14
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 26.0 135.8 135.8 135.8 1.1
2 52.0 104 208.0 72.2 0.6
3 78.0 86.8 260.4 52.4 0.4
4 104.0 75.5 302.0 41.6 0.3
5 130.0 67.5 337.5 35.5 0.3
6 156.0 61.3 367.8 30.3 0.3
7 182.0 56.4 394.8 27.0 0.2

FEHi-13




|
(

(I

VEAY R e

[ == L

V.,

I

\C%\)CORE RP. (C) A%




=& IZNr3R -5

W B R KL FWL 107.8{(m)

LS EL 99.6{(m)

=8 IKi%E : H=FWL-EL 8.2|(m)

WETKE:V 6,800((m3)

= RFHE=(Costa): Qp 96.68|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.09800 [km2

/K ETE: A2 0.00130|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 34| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 34(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 123.3|(mm/h)

HKFEE—Y:Q 2.7|(m3/s)  [1/36-f-r-A

REHEKGREN.2Q 3.24|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 96.68 2.7 994
1 41.20 2.7 43.9
2 17.55 2.6 20.2
3 7.48 2.6 10.1
4 3.19 25 5.7
5 1.36 25 3.9
6 0.58 25 3.0
7 0.25 24 2.7
8 0.11 24 25
9 0.04 2.3 24
10 0.02 2.3 2.3
1 0.01 2.2 2.3
12 0.00 2.2 2.2
13 0.00 2.2 2.2
14 0.00 2.1 2.1
15 0.00 2.1 2.1
16 0.00 20 20
17 0.00 20 20
18 0.00 20 20
19 0.00 1.9 1.9
20 0.00 1.9 1.9

F-1 RHEGRBIERE RS ERC

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00130 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.09670
7KH 100
M 200
E 70
aFt 0.09800
Taf I 287
IR RE f i i &
Pat;akiii! 1.00 | 0.0013 A FHEEH 720 M | P33
(L 0.80 | 0.0967
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0980
Taf I 0.80

F&-2 HOKEERR]

LM TRICIE, F=oithél
THASIN TSI EHIEIR AR
BEINTWS, IFER IS EIE-
RIEBELEWLWLEDD, ERMSTA
Lz ICKUEKLTULK
NEETHRARETIEDEE
EL.ZDTR~ADREEIL L
FOLDRAZIZHLTRED
EBYEREL,

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 34.0 123.3 98.64 0.2 34.43 122.7 0.6
2 34.1 123.1 98.48 0.201 34.61 122.4 0.7
3 34.2 123.0 98.40 0.201 34.61 122.4 0.6
4 34.3 122.9 98.32 0.201 34.61 122.4 0.5
5 344 122.7 98.16 0.201 34.61 122.4 0.3
6 345 122.6 98.08 0.201 34.61 122.4 0.2
7 34.6 122.5 98.00 0.201 34.61 122.4 0.1
8 34.7 122.3 97.84 0.201 34.61 122.4 -0.1
9 34.8 122.2 97.76 0.201 34.61 122.4 -0.2
10 34.9 1221 97.68 0.201 34.61 122.4 -0.3
11 35.0 121.9 97.52 0.201 34.61 122.4 -0.5
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 34.0 123.3 123.3 123.3 2.7
2 68.0 92.4 184.8 61.5 1.3
3 102.0 76.3 228.9 441 1.0
4 136.0 65.9 263.6 34.7 0.8
5 170.0 58.5 292.5 28.9 0.6
6 204.0 53 318.0 25.5 0.6
7 238.0 48.6 340.2 22.2 0.5
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F1i-16

RRE=HS

BERY | emmnnonncn| RIREERS |y i | o L s
(min) | Q1(m3/s) Q2(m3) Q3(m3/s) Q4(m3)
0 994 0 149.8 0
1 439 4,297 66.1 6,476
2 20.2 1,921 30.4 2,895
3 10.1 907 15.2 1,366
4 5.7 473 8.6 713
5 3.9 287 58 433
6 3.0 207 4.6 311
7 2.7 171 40 257
8 25 154 3.7 232
9 24 146 3.6 219
10 2.3 140 3.5 211
11 2.3 137 34 206
12 2.2 134 3.3 202
13 2.2 131 3.3 198
14 2.1 129 3.2 194
15 2.1 126 3.1 190
16 20 124 3.1 186
17 20 121 3.0 183
18 20 119 3.0 179
19 1.9 116 2.9 175
20 1.9 114 2.8 172
e 9,954 e 15,000

Q3=Q1/5Q2 X B S LETKE
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=it & ¥R AR -3

B KL FWL (m)

LS EL (m)

T=8ith JK % - H=FWL-EL 6.1|(m) EE-iftkts

WETKE:V 5,000{(m3)

= RFHE=(Costa): Qp 75.04|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.04200 [km2

/K ETE: A2 0.00190|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 27|% Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 27|% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 134|(mm/h)

HKFEE—Y:Q 1.3|(m3/s) |1/3.6-f-r-A

RETKIREN.2Q 1.56|(m3/s)

Bl [REBRE|HRKRE|LEXRTRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
ol 7504 13 76.3
1 30.49 1.3 31.8
2 12.39 1.3 13.6
3 5.04 1.2 6.3
4 2.05 1.2 3.3
5 0.83 1.2 20
6 0.34 1.2 1.5
7 0.14 11 1.3
8 0.06 11 1.2
9 0.02 11 1.1
10 0.01 11 1.1
11 0.00 11 1.1
12 0.00 1.0 1.0
13 0.00 1.0 1.0
14 0.00 1.0 1.0
15 0.00 1.0 1.0
16 0.00 0.9 0.9
17 0.00 0.9 0.9
18 0.00 0.9 0.9
19 0.00 0.9 0.9
20 0.00 0.9 0.9

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

o RHE C | EfE(km2) s &
Pat;akiii! 70 | 0.00190 R FHE R 7200 B G P33
(Lot 290 | 0.04010
7KH 100
M 200
E 70
aFt 0.04200
Taf I 280
IR RE f i i &
Pat;akiii! 1.00 | 0.0019 A FHEEH 720 M | P33
(L 0.80 [ 0.0401
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0420
Taf I 0.81

F£1i-19

REOTEREl EWEE |AURRME gy | PUKENEESR _
(5 r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 270 134.0 108.54 0.194 27.04 133.9 0.1
2 271 133.8 108.38 0.194 27.04 133.9 -0.1
3 272 133.6 108.22 0.194 27.04 133.9 -0.3
4 273 133.5 108.14 0.194 27.04 133.9 -04
5 274 133.3 107.97 0.194 27.04 133.9 -0.6
6 275 1331 107.81 0.194 27.04 133.9 -0.8
7 276 133.0 107.73 0.194 27.04 133.9 -0.9
8 27.17 132.8 107.57 0.194 27.04 133.9 -1.1
9 278 132.6 107.41 0.195 27.18 133.7 -1.1
10 279 132.5 107.33 0.195 27.18 133.7 -1.2
11 28.0 132.3 107.16 0.195 27.18 133.7 -14
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 27.0 134 134.0 134.0 1.3
2 54.0 102.3 204.6 70.6 0.7
3 81.0 85.2 255.6 51.0 0.5
4 108.0 741 296.4 40.8 04
5 135.0 66.1 330.5 341 0.3
6 162.0 60.1 360.6 30.1 0.3
7 189.0 55.3 3871 26.5 0.3
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=& ;HHE -3

BB K 5L : FWL 18.0|(m)

HlS EL 12.0{(m)

=8 IKi%E : H=FWL-EL 6.0{(m)

#Erk=:Vv 7,100{(m3)

= RFHE=(Costa): Qp 86.34|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.06600 [km2

/K ETE: A2 0.00260|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 30| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 30(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 129.1{(mm/h)

HKFEE—Y:Q 1.9((m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 2.28|(m3/s)

o

=]

A

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
ol 8634 19 88.2
1 41.62 1.9 43.5
2 20.07 1.8 219
3 9.67 1.8 11.5
4 4.66 1.8 6.4
5 2.25 1.8 40
6 1.08 1.7 2.8
7 0.52 1.7 22
8 0.25 1.7 1.9
9 0.12 1.6 1.8
10 0.06 1.6 1.7
11 0.03 1.6 1.6
12 0.01 1.5 1.6
13 0.01 1.5 1.5
14 0.00 1.5 1.5
15 0.00 1.5 1.5
16 0.00 1.4 1.4
17 0.00 1.4 1.4
18 0.00 1.4 1.4
19 0.00 1.3 1.3
20 0.00 1.3 1.3

U\’/W//
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319
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ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
Pat;akiii! 70 | 0.00260 R FHE R 7200 B G P33
(Lot 290 | 0.06340
7KH 100
M 200
E 70
aFt 0.06600
Taf I 281
IR RE f i i &
Pat;akiii! 1.00 | 0.0026 A FHEEH 720 M | P33
(L 0.80 | 0.0634
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0660
Taf I 0.81

FEhi-21

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 30.0 129.1 104.57 0.196 30.29 128.6 0.5
2 30.1 128.9 104.41 0.197 30.44 128.4 0.5
3 30.2 128.8 104.33 0.197 30.44 128.4 04
4 30.3 128.6 104.17 0.197 30.44 128.4 0.2
5 304 128.5 104.09 0.197 30.44 128.4 0.1
6 30.5 128.3 103.92 0.197 30.44 128.4 -0.1
7 30.6 128.2 103.84 0.197 30.44 128.4 -0.2
8 30.7 128.0 103.68 0.197 30.44 128.4 -04
9 30.8 127.9 103.60 0.197 30.44 128.4 -0.5
10 30.9 127.7 103.44 0.197 30.44 128.4 -0.7
11 31.0 127.6 103.36 0.197 30.44 128.4 -0.8
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 30.0 129.1 129.1 129.1 1.9
2 60.0 97.7 195.4 66.3 1.0
3 90.0 81.1 243.3 479 0.7
4 120.0 70.3 281.2 37.9 0.6
5 150.0 62.6 313.0 31.8 0.5
6 180.0 56.8 340.8 27.8 0.4
7 210.0 52.1 364.7 23.9 0.4
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=t a 515 &%
B S KR FWL 35.8((m)

HlS EL 26.3|(m)

T=8hith K% : H=FWL-EL 9.5|(m)

HEPKE:V 32,000{(m3)

RKHE(Costa): Qp

197.36[{(m3/s)

Qp=325(H-V)**?

JRigmiE:A 0.12600 [km2

/K ETE: A2 0.00770|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 35|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 35(4 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 121.9{(mm/h)

HKFEE—Y:Q 35|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 4.2|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 197.36 3.5 200.9
1 136.32 34 139.8
2 94.15 34 975
3 65.03 3.3 68.4
4 4492 3.3 48.2
5 31.02 3.2 34.3
6 21.43 3.2 24.6
7 14.80 3.1 17.9
8 10.22 3.1 13.3
9 7.06 3.0 10.1
10 4.88 3.0 7.9
1 3.37 2.9 6.3
12 2.33 2.9 5.2
13 1.61 2.8 44
14 1.1 2.8 3.9
15 0.77 2.7 35
16 0.53 2.7 3.2
17 0.37 2.6 3.0
18 0.25 2.6 2.8
19 0.17 25 2.7
20 0.12 25 2.6
21 0.08 24 25
22 0.06 24 24
23 0.04 2.3 24
24 0.03 2.3 2.3
25 0.02 2.2 2.2
26 0.01 2.2 2.2
27 0.01 2.1 2.1
28 0.01 2.1 2.1
29 0.00 20 20

200

H/“,\

n

(C) ElL#h¥8fx SIP4 (C) CORE CORP. (C)

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00770 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.11830
7KH 100
M 200
E 70
aFt 0.12600
Taf I 277
IR RE f i i &
Pat;akiii! 1.00 | 0.0077 A FHEEH 720 M | P33
(L 0.80 | 0.1183
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.1260
Taf I 0.81

FE1-23

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 35.0 121.9 98.74 0.2 35.12 121.8 0.1
2 35.1 121.8 98.66 0.2 35.12 121.8 0.0
3 35.2 121.7 98.58 0.201 35.3 1215 0.2
4 35.3 121.5 98.42 0.201 35.3 1215 0.0
5 35.4 121.4 98.33 0.201 35.3 1215 -0.1
6 35.5 121.3 98.25 0.201 35.3 1215 -0.2
7 35.6 121.1 98.09 0.201 35.3 1215 -04
8 35.7 121.0 98.01 0.201 35.3 1215 -0.5
9 35.8 120.9 97.93 0.201 35.3 1215 -0.6
10 35.9 120.7 97.77 0.201 35.3 1215 -0.8
11 36.0 120.6 97.69 0.201 35.3 1215 -0.9
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 35.0 121.9 121.9 121.9 3.5
2 70.0 91.2 182.4 60.5 1.7
3 105.0 75.2 225.6 43.2 1.2
4 140.0 64.9 259.6 34.0 1.0
5 175.0 57.6 288.0 28.4 0.8
6 210.0 52.1 312.6 24.6 0.7
7 245.0 478 334.6 22.0 0.6




R o R L




B [RERE[HKRE[LEMNRRE x-1 REREfETEEEELRC
=B SRE &% (min)  [Q1(m3/s)[ Q2(m3/s)[Q1+Q2(m3/s) tHoReE | |E#Ekm) W %
B S K AL FWL 31.0|(m) 0 86.13 1.7 87.8 728 70 | 0.00520 R FHEEE T2 M 1 P33
HlS EL 25.5((m) 1 4402 1.7 457 L1t 290 | 0.05280
f=shith 7K %R - H=FWL-EL 5.5|(m) 2 2250 16 24.1 K H 100
RETKE:V 7,700{(m3) 3 11.50 16 13.1 B 200
K7 E(Costa): Qp 86.13|/(m3/s)  |Qp=325(H-V)** 4 5.88 16 75 FH 70
TISEHE:A 0.05800|km2 5 3.00 16 46 A 0.05800
WKEE: A2 0.00520|km2 6 1.54 15 3.1 T 270
r=a/(t"+b) 7 0.78 15 2.3
HAREEAR BE 8 0.40 15 1.9 tHodke |t Hif i %
ErRsEE KN 0.687 9 0.21 14 1.7 pietatiil 1.00 | 0.0052 BFHEEH 7eb R P33
ErREE R 2541.05 10 0.10 14 15 it 0.80 | 0.0528
ErsEERX b 9.34 11 0.05 14 14 KH 0.75 | 0.0000
T ——— 28l5 ff_:zzfé%_sz\aoé\fﬁ 12 0.03 1.4 1.4 Bty 0.53 | 0.0000
LA 13 0.01 1.3 1.3 Bt 0.85 | 0.0000
REENERM:tc 28|45 f&%@?ﬁé&%@%o 1 001 13 13 as 0080
Ve T 15 0.00 1.3 1.3 Taf I 0.82
B ER R R DR FRIRE ¢ 132.3|(mm/h) 16 0.00 12 12
HKREE—Y:Q 1.7|(m3/s)  |1/3.6-f-r-A 17 0.00 1.2 1.2 =2 HKEERER
BREHHOKIREN.2Q 2.04|(m3/s) 18 0.00 12 1.2 REOTEREl EWEE |AURRME s | BUKEIEESRS ]
19 0.00 12 12 (%) r(mm/h) |re=fermm/m| to(min) 2 e
20 0.00 1.1 1.1 1 28.0 132.3 108.49 0.194 28 132.3 0.0
- — ~ _/ 2 28.1 132.1 108.32 0.194 28 132.3 -0.2
5_///—:—/) \j/ \ 3 28.2 1320 108.24 0.194 28 132.3 -03
4 283 131.8 108.08 0.194 28 132.3 -05
2 W 5 28.4 131.6 107.91 0.194 28 132.3 -0.7
| 6 285 1315 107.83 0.194 28 132.3 -038
‘%# 7 28.6 131.3 107.67 0.194 28 132.3 -1.0
q 8 28.7 131.1 107.50 0.195 28.14 132.1 -1.0
2N 5 o 9 288 131.0 107.42 0.195 28.14 132.1 -1.1
D © 7 10 28.9 130.8 107.26 0.195 28.14 132.1 -1.3
5 7 11 29.0 130.7 107.17 0.195 28.14 132.1 -14
s . S
g x-3 HKRE-AIAEPE
o /5 < t r In Q
% " (min) (mm/h) nr (mm/h) (m3/s)
1 28.0 132.3 132.3 132.3 1.7
' 2 56.0 100.7 201.4 69.1 0.9
3 84.0 8358 251.4 50.0 0.7
0 4 1120 72.8 291.2 398 05
6 o0 2\ 5/ 1400 64.9 3245 333 0.4
200 m . = 0 0 < 6| 1680 58.9 353.4 28.9 0.4
HEKEE/ 5 7| 196.0 54.2 379.4 26.0 0.3
— 3 <0\ E £ S CARP/AC)

ich

F 1125







=& TP N -3

BB K 5L : FWL 44.0[(m)

HlS EL 41.0|(m)

=8 IKi%E : H=FWL-EL 3.0{(m)

#Erk=:Vv 1,400|(m3)

= RFHE=(Costa): Qp 32.63|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.03000 [km2

/K ETE: A2 0.00080|km2

r=a/(t"+b)

1 ARE AR BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
R-2Tr1-r2Hoh xR

AR E B BF et 25|59 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 25|43 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 137.6|(mm/h)

HKFEE—Y:Q 0.9((m3/s) |1/36-fr-A

REHEKGREN.2Q 1.08|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 32.63 0.9 335
1 8.06 0.9 8.9
2 1.99 0.9 29
3 0.49 0.9 1.3
4 0.12 0.8 1.0
5 0.03 0.8 0.9
6 0.01 0.8 0.8
7 0.00 0.8 0.8
8 0.00 0.8 0.8
9 0.00 0.8 0.8
10 0.00 0.7 0.7
1 0.00 0.7 0.7
12 0.00 0.7 0.7
13 0.00 0.7 0.7
14 0.00 0.7 0.7
15 0.00 0.7 0.7
16 0.00 0.6 0.6
17 0.00 0.6 0.6
18 0.00 0.6 0.6
19 0.00 0.6 0.6
20 0.00 0.6 0.6

ich

R-1 REREIETRISFIEERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00080 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.02920
7KH 100
M 200
E 70
aFt 0.03000

faf ES-25) 284

IR RE f i i &
Pat;akiii! 1.00 | 0.0008 A FHEEH 720 M | P33
(L 0.80 | 0.0292
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0300

faf ESF-25) 0.81

Fi-27

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 25.0 137.6 111.46 0.192 25.21 137.2 04
2 25.1 137.4 111.29 0.192 25.21 137.2 0.2
3 25.2 137.2 111.13 0.192 25.21 137.2 0.0
4 25.3 137.0 110.97 0.192 25.21 137.2 -0.2
5 254 136.8 110.81 0.192 25.21 137.2 -04
6 25.5 136.7 110.73 0.193 25.34 137 -0.3
7 25.6 136.5 110.57 0.193 25.34 137 -0.5
8 25.7 136.3 110.40 0.193 25.34 137 -0.7
9 25.8 136.1 110.24 0.193 25.34 137 -0.9
10 25.9 135.9 110.08 0.193 25.34 137 -1.1
11 26.0 135.8 110.00 0.193 25.34 137 -1.2
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 25.0 137.6 137.6 137.6 0.9
2 50.0 105.7 211.4 73.8 0.5
3 75.0 88.4 265.2 53.8 0.4
4 100.0 77 308.0 42.8 0.3
5 125.0 68.8 344.0 36.0 0.2
6 150.0 62.6 375.6 31.6 0.2
7 175.0 57.6 403.2 27.6 0.2
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=it & ¥R INZESHNG.2 E

BB K 5L : FWL 20.1|(m)

HlS EL 15.0{(m)

=8 IKi%E : H=FWL-EL 5.1|(m)

WETKE:V 5,300((m3)

= RFHE=(Costa): Qp 71.33|(m3/s)  |Qp=325(H-V)**?

JRigmiE:A 0.01300|km2

/K ETE: A2 0.00300|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

W H R E EERFR:t 16|%> RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 16|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 158.2{(mm/h)

HKFEE—Y:Q 0.5|/(m3/s) [1/3.6+fr-A

RETKIREN.2Q 0.6{(m3/s)

Bl [REBRE|HRKRE|LEXRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 71.33 0.5 71.8
1 31.81 0.5 323
2 14.19 0.5 14.7
3 6.33 0.5 6.8
4 2.82 0.5 3.3
5 1.26 04 1.7
6 0.56 04 1.0
7 0.25 04 0.7
8 0.11 04 0.5
9 0.05 04 0.4
10 0.02 04 0.4
1 0.01 04 0.4
12 0.00 04 0.4
13 0.00 0.3 0.3
14 0.00 0.3 0.3
15 0.00 0.3 0.3
16 0.00 0.3 0.3
17 0.00 0.3 0.3
18 0.00 0.3 0.3
19 0.00 0.3 0.3
20 0.00 0.3 0.3

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

o RHE C | EfE(km2) s &
Pat;akiii! 70 | 0.00300 R FHE R 7200 B G P33
(Lot 290 | 0.01000
7KH 100
M 200
E 70
aFt 0.01300
Taf I 239
IR RE f i i &
Pat;akiii! 1.00 | 0.0030 A FHEEH 720 M | P33
(L 0.80 [ 0.0100
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0130
Taf I 0.85

15 E1H-29

REOTEREl EWEE |AURRME gy | PUKENEESR _
(5 r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 16.0 158.2 134.47 0.18 16.55 156.7 1.5
2 16.1 158.0 134.30 0.18 16.55 156.7 1.3
3 16.2 157.7 134.05 0.18 16.55 156.7 1.0
4 16.3 157.4 133.79 0.18 16.55 156.7 0.7
5 16.4 1571 133.54 0.18 16.55 156.7 0.4
6 16.5 156.8 133.28 0.18 16.55 156.7 0.1
7 16.6 156.6 133.11 0.181 16.64 156.5 0.1
8 16.7 156.3 132.86 0.181 16.64 156.5 -0.2
9 16.8 156.0 132.60 0.181 16.64 156.5 -0.5
10 16.9 155.7 132.35 0.181 16.64 156.5 -0.8
11 17.0 155.5 132.18 0.181 16.64 156.5 -1.0
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 16.0 158.2 158.2 158.2 0.5
2 32.0 126.1 2522 94.0 0.3
3 48.0 107.5 3225 70.3 0.2
4 64.0 95 380.0 575 0.2
5 80.0 85.7 428.5 48.5 0.1
6 96.0 78.6 471.6 431 0.1
7 112.0 72.8 509.6 38.0 0.1
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Bl [REBRE|HRKRE|LEXRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 51.77 0.3 52.1
1 18.38 0.3 18.7
2 6.53 0.3 6.8
3 2.32 0.3 2.6
4 0.82 0.3 1.1
5 0.29 0.3 0.6
6 0.10 0.3 0.4
7 0.04 0.3 0.3
8 0.01 0.3 0.3
9 0.00 0.2 0.2
10 0.00 0.2 0.2
1 0.00 0.2 0.2
12 0.00 0.2 0.2
13 0.00 0.2 0.2
14 0.00 0.2 0.2
15 0.00 0.2 0.2
16 0.00 0.2 0.2
17 0.00 0.2 0.2
18 0.00 0.2 0.2
19 0.00 0.2 0.2
20 0.00 0.2 0.2

it

=it & ¥R INZESHNoO. 1 E
BB K 5L : FWL 14.0|(m)
LS EL 9.8({(m)
=8 IKi%E : H=FWL-EL 4.2{(m)
WETKE:V 3,000{(m3)
= RFHE=(Costa): Qp 51.77|/(m3/s)  |Qp=325(H-V)**
JRigmiE:A 0.00900 [km2
/K ETE: A2 0.00110|km2
r=a/(t"+b)
1 F R = £181Fr BE
ErRsEE KN 0.687
ErREE R 2541.05
ErsEERX b 9.34
F-2Tri-r2hoh &
W H R E EERFR:t 17|14 RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0
REFHERR tc 17|59 L1 AR EREEE
HUVIET
B ZERBRNOBREE: v 155.5{(mm/h)
HKFEE—Y:Q 0.3|/(m3/s) |1/3.6+fr-A
RETKIREN.2Q 0.36[(m3/s)
>
5\
° mll
HD:N:I
05
Es
E =
+]
> ;
: /5,40
§ 0 2 ]
0 —
a
a]
2 & )
u/\

W
4,

¥

Y
U
2
“gb
&
S
C

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

o RHE C | EfE(km2) s &
Pat;akiii! 70 | 0.00110 R FHE R 7200 B G P33
(Lot 290 | 0.00790
7KH 100
M 200
E 70
aFt 0.00900
Taf I 263
IR RE f i i &
Pat;akiii! 1.00 | 0.0011 A FHEEH 720 M | P33
(L 0.80 [ 0.0079
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0090
Taf I 0.82

F£Hi-31

REOTEREl EWEE |AURRME gy | PUKENEESR _
(5 r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 17.0 155.5 127.51 0.183 17.07 155.3 0.2
2 17.1 155.2 127.26 0.183 17.07 155.3 -0.1
3 17.2 154.9 127.02 0.184 17.17 155 -0.1
4 17.3 154.7 126.85 0.184 17.17 155 -0.3
5 17.4 154.4 126.61 0.184 17.17 155 -0.6
6 17.5 1541 126.36 0.184 17.17 155 -0.9
7 17.6 153.9 126.20 0.184 17.17 155 =11
8 17.7 153.6 125.95 0.184 17.17 155 -1.4
9 17.8 153.4 125.79 0.184 17.17 155 -1.6
10 17.9 1531 125.54 0.184 17.17 155 -1.9
11 18.0 152.9 125.38 0.184 17.17 155 -2.1
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 17.0 155.5 155.5 155.5 0.3
2 340 123.3 246.6 911 0.2
3 51.0 104.8 3144 67.8 0.1
4 68.0 924 369.6 55.2 0.1
5 85.0 83.3 416.5 46.9 0.1
6 102.0 76.3 457.8 413 0.1
7 119.0 70.6 4942 36.4 0.1







=& FEAKN -3

W B R KL FWL 25.3|(m)

HlS EL 21.9{(m)

=8 IKi%E : H=FWL-EL 3.4|{(m)

WETKE:V 2,400({(m3)

= RFHE=(Costa): Qp 43.13|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.03200 [km2

/K ETE: A2 0.00080|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 25|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 25|43 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 137.6|{(mm/h)

HKFEE—Y:Q 10{(m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 1.2|(m3/s)

FRR KRN EFHRE

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 43.13 1.0 441
1 14.67 1.0 15.7
2 4.99 1.0 6.0
3 1.70 0.9 2.6
4 0.58 0.9 1.5
5 0.20 0.9 1.1
6 0.07 0.9 1.0
7 0.02 0.9 0.9
8 0.01 0.8 0.9
9 0.00 0.8 0.8
10 0.00 0.8 0.8
1 0.00 0.8 0.8
12 0.00 0.8 0.8
13 0.00 0.7 0.7
14 0.00 0.7 0.7
15 0.00 0.7 0.7
16 0.00 0.7 0.7
17 0.00 0.7 0.7
18 0.00 0.6 0.6
19 0.00 0.6 0.6
20 0.00 0.6 0.6

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00080 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.03120
7KH 100
M 200
E 70
aFt 0.03200

Taf I 285

IR RE f i i &
Pat;akiii! 1.00 | 0.0008 A FHEEH 720 M | P33
(L 0.80 | 0.0312
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0320

Taf I 0.81

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 25.0 137.6 111.46 0.192 25.66 136.4 1.2
2 25.1 137.4 111.29 0.192 25.66 136.4 1.0
3 25.2 137.2 111.13 0.192 25.66 136.4 0.8
4 25.3 137.0 110.97 0.192 25.66 136.4 0.6
5 254 136.8 110.81 0.192 25.66 136.4 04
6 25.5 136.7 110.73 0.193 25.79 136.1 0.6
7 25.6 136.5 110.57 0.193 25.79 136.1 04
8 25.7 136.3 110.40 0.193 25.79 136.1 0.2
9 25.8 136.1 110.24 0.193 25.79 136.1 0.0
10 25.9 135.9 110.08 0.193 25.79 136.1 -0.2
11 26.0 135.8 110.00 0.193 25.79 136.1 -0.3
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 25.0 137.6 137.6 137.6 1.0
2 50.0 105.7 211.4 73.8 0.5
3 75.0 88.4 265.2 53.8 0.4
4 100.0 77 308.0 42.8 0.3
5 125.0 68.8 344.0 36.0 0.3
6 150.0 62.6 375.6 31.6 0.2
7 175.0 57.6 403.2 27.6 0.2







=& =111 -3

BB K 5L : FWL 32.1|(m)

LS EL 30.0{(m)

=8 IKi%E : H=FWL-EL 2.1|(m)

WETKE:V 2,400({(m3)

= RFHE=(Costa): Qp 35.23|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.01200|km2

/K ETE: A2 0.00050|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

W H R E EERFR:t 19|14 RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 19|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 150.4|{(mm/h)

HKFEE—Y:Q 0.4|/(m3/s) |1/3.6+f-r-A

REHEKGREN.2Q 0.48|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
o 3523 0.4 356
1 14.60 04 15.0
2 6.05 04 6.4
3 2.51 04 29
4 1.04 04 1.4
5 0.43 0.3 0.8
6 0.18 0.3 0.5
7 0.07 0.3 0.4
8 0.03 0.3 0.3
9 0.01 0.3 0.3
10 0.01 0.3 0.3
11 0.00 0.3 0.3
12 0.00 0.3 0.3
13 0.00 0.3 0.3
14 0.00 0.3 0.3
15 0.00 0.2 0.2
16 0.00 0.2 0.2
17 0.00 0.2 0.2
18 0.00 0.2 0.2
19 0.00 0.2 0.2
20 0.00 0.2 0.2

it

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
Pat;akiii! 70 | 0.00050 R FHE R 7200 B G P33
(Lot 290 | 0.01150
7KH 100
M 200
E 70
aFt 0.01200
Taf I 281
IR RE f i i &
Pat;akiii! 1.00 | 0.0005 A FHEEH 720 M | P33
(L 0.80 | 0.0115
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0120
Taf I 0.81

F£11-35

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 19.0 150.4 121.82 0.186 19.75 148.6 1.8
2 19.1 150.1 121.58 0.186 19.75 148.6 1.5
3 19.2 149.9 121.42 0.186 19.75 148.6 1.3
4 19.3 149.6 121.18 0.187 19.86 148.3 1.3
5 194 149.4 121.01 0.187 19.86 148.3 1.1
6 19.5 149.2 120.85 0.187 19.86 148.3 09
7 19.6 148.9 120.61 0.187 19.86 148.3 0.6
8 19.7 148.7 120.45 0.187 19.86 148.3 04
9 19.8 148.5 120.29 0.187 19.86 148.3 0.2
10 19.9 148.2 120.04 0.187 19.86 148.3 -0.1
11 20.0 148.0 119.88 0.187 19.86 148.3 -0.3
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 19.0 150.4 150.4 150.4 0.4
2 38.0 118.1 236.2 85.8 0.2
3 57.0 100 300.0 63.8 0.2
4 76.0 87.8 351.2 51.2 0.1
5 95.0 79 395.0 43.8 0.1
6 114.0 721 432.6 37.6 0.1
7 133.0 66.7 466.9 34.3 0.1
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=& b -3

W B R KL FWL 42.5((m)

LS EL 39.0{(m)

=8 IKi%E : H=FWL-EL 3.5((m)

WETKE:V 2,300({(m3)

= RFHE=(Costa): Qp 42.89|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.01600 |[km2

/K ETE: A2 0.00110|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 20| %> Iz L5#YIR
LAR
F-2Mr1-r2M{EH0

REFHERR tc 20(%> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 148|(mm/h)

HKFEE—Y:Q 0.5|/(m3/s) [1/3.6+fr-A

REHEKGREN.2Q 0.6/(m3/s)

W{
RN

)

©)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 42.89 0.5 434
1 14.01 0.5 145
2 458 0.5 5.1
3 1.49 0.5 20
4 0.49 0.5 1.0
5 0.16 0.5 0.6
6 0.05 04 0.5
7 0.02 04 0.5
8 0.01 04 0.4
9 0.00 04 0.4
10 0.00 04 0.4
1 0.00 04 0.4
12 0.00 04 0.4
13 0.00 04 0.4
14 0.00 04 0.4
15 0.00 04 0.4
16 0.00 0.3 0.3
17 0.00 0.3 0.3
18 0.00 0.3 0.3
19 0.00 0.3 0.3
20 0.00 0.3 0.3

A

fEE™ dLH

B EE
WK mEE

0. 016km
1, 100m2
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ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00110 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.01490
7KH 100
M 200
E 70
aFt 0.01600
Taf I 275
IR RE f i i &
Pat;akiii! 1.00 | 0.0011 A FHEEH 720 M | P33
(L 0.80 | 0.0149
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0160
Taf I 0.81

F 37

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 20.0 148.0 119.88 0.187 20.71 146.4 1.6
2 20.1 147.8 119.72 0.187 20.71 146.4 1.4
3 20.2 147.5 119.48 0.187 20.71 146.4 1.1
4 20.3 147.3 119.31 0.188 20.82 146.1 1.2
5 204 1471 119.15 0.188 20.82 146.1 1.0
6 20.5 146.8 118.91 0.188 20.82 146.1 0.7
7 20.6 146.6 118.75 0.188 20.82 146.1 0.5
8 20.7 146.4 118.58 0.188 20.82 146.1 0.3
9 20.8 146.2 118.42 0.188 20.82 146.1 0.1
10 20.9 145.9 118.18 0.188 20.82 146.1 -0.2
11 21.0 145.7 118.02 0.188 20.82 146.1 -04
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 20.0 148 148.0 148.0 0.5
2 40.0 115.8 231.6 83.6 0.3
3 60.0 97.7 293.1 61.5 0.2
4 80.0 85.7 342.8 49.7 0.2
5 100.0 77 385.0 42.2 0.2
6 120.0 70.3 421.8 36.8 0.1
7 140.0 64.9 454.3 32.5 0.1
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B | RERE[AKRE|LENZHKE x-1 REREfETEEEELRC
=B FH &% (min) | Q1(m3/s)| Q2(m3/s)[Q1+Q2(m3/s) tHoRE | ¢ |@ERGm) W %
B S K AL FWL 79.8|(m) 0 52.95 30 56.0 728 70 | 0.00060 R FHEEE T2 M 1 P33
HlS EL 76.0|(m) 1 21.36 3.0 243 LI 290 | 0.11040
1= Ki%E : H=FWL-EL 3.8|(m) 2 8.62 2.9 115 7k H 100
RETKE:V 3,500|(m3) 3 348 2.9 6.4 Bl 200
At 2(Costa): Qp 52.95((m3/s)  |Qp=325(H-V)** 4 1.40 28 4.2 EHl 70
TISEHE:A 0.11100|km2 5 0.57 2.8 34 A 0.11100
WKEE: A2 0.00060|km2 6 0.23 2.8 3.0 T 289
r=a/(t"+b) 7 0.09 2.7 2.8
HAREEAR BE 8 0.04 2.7 2.7 tHodke |t Hif i %
ErRsEE KN 0.687 9 0.01 2.6 26 pietatiil 1.00 | 0.0006 BFHEEH 7eb R P33
EREERa 2541.05 10 0.01 2.6 2.6 (L1 0.80 | 0.1104
ErsEERX b 9.34 11 0.00 25 25 KH 0.75 | 0.0000
MR B 36|43 A 2| 009 2% 25 e | 059 | 00000
LA 13 0.00 25 25 Bt 0.85 | 0.0000
REENZERE to 36(% f&%@?&é&%@g 14 000 24 24 il 1
HYIVET 15 0.00 24 24 fif B 0.80
B ER R R DR FRIRE ¢ 120.6|{(mm/h) 16 0.00 2.3 2.3
BKREE—Y:Q 3.0{(m3/s) [1/3.6+f-r-A 17 0.00 2.3 2.3 R-2 HKEERR
BREHHOKIREN.2Q 3.6/(m3/s) 18 0.00 2.3 2.3 REOTEREl EWEE |AURRME oz |BUKEIERSRS ]
19 0.00 2.2 22 1(%3) rmm/h) |re=fermm/m)| " to(min) k Rk
20 0.00 2.2 2.2 1 36.0 120.6 96.48 0.202 35.99 120.6 0.0
)2 u -, 2 36.1 120.5 96.40 0.202 35.99 120.6 -0.1
A 3 36.2 120.4 96.32 0.202 35.99 120.6 -0.2
[ 4 36.3 120.2 96.16 0.202 35.99 120.6 -0.4
"/ ‘¥ 5 36.4 120.1 96.08 0.202 35.99 120.6 -05
6 365 1200 96.00 0.202 35.99 120.6 -0.6
7 36.6 119.9 95.92 0.202 35.99 120.6 -0.7
8 36.7 119.7 95.76 0.203 36.17 120.4 -0.7
é 9 36.8 119.6 95.68 0.203 36.17 120.4 -038
. 10 36.9 1195 95.60 0.203 36.17 120.4 -0.9
11 370 119.4 95.52 0.203 36.17 120.4 -1.0
A/ -3 RAKRE FHEPR
b t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 36.0 120.6 120.6 120.6 30
2 72.0 90 180.0 59.4 15
3| 1080 741 222.3 423 10
4| 1440 64 256.0 337 0.8
=0
a0 “ 5/ 180.0 56.8 284.0 28.0 0.7
S T 6| 2160 513 307.8 238 06
..- . 7| 2520 471 3297 21.9 05

{‘ 0.
a7 5'!
0

<

|t s (1P (&) CORE-CORP, (6 B i

F£11-39

ich






=& HD# -3

W B R KL FWL 27.8|(m)

LS EL 20.0{(m)

=8 IKi%E : H=FWL-EL 7.8|(m)

WETKE:V 6,300({(m3)

= RFHE=(Costa): Qp 91.68|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.17400|km2

/K ETE: A2 0.00200|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 40| 4> Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 40| % L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 115.8{(mm/h)

HKFEE—Y:Q 45|(m3/s) |1/3.6+fr-A

REHEKGREN.2Q 5.4|(m3/s)

N
N

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
o o168 45 96.2
1 38.29 44 42.7
2 15.99 44 204
3 6.68 43 11.0
4 2.79 43 71
5 1.16 42 54
6 0.49 4.1 4.6
7 0.20 4.1 43
8 0.08 40 4.1
9 0.04 40 40
10 0.01 3.9 3.9
11 0.01 3.8 3.9
12 0.00 3.8 3.8
13 0.00 3.7 3.7
14 0.00 3.7 3.7
15 0.00 3.6 3.6
16 0.00 3.5 35
17 0.00 3.5 35
18 0.00 34 34
19 0.00 34 34
20 0.00 3.3 3.3

N

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
Pat;akiii! 70 | 0.00200 R FHE R 7200 B G P33
(Lot 290 | 0.17200
7KH 100
M 200
E 70
aFt 0.17400
Taf I 287
IR RE f i i &
Pat;akiii! 1.00 | 0.0020 A FHEEH 720 M | P33
(L 0.80 [ 0.1720
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.1740
Taf I 0.80

Fhi-41

REOTEREl EWEE |AURRME gy | PUKENEESR _
t(4) r{(mm/h) re=f=r;(mm/h) re te(min) 2 n
1 40.0 115.8 92.64 0.205 40.05 1156.7 0.1
2 40.1 1156.7 92.56 0.205 40.05 1156.7 0.0
3 40.2 115.6 92.48 0.205 40.05 1156.7 -0.1
4 40.3 115.4 92.32 0.205 40.05 1156.7 -0.3
5 40.4 1156.3 92.24 0.205 40.05 1156.7 -04
6 40.5 115.2 92.16 0.205 40.05 1156.7 -0.5
7 40.6 1151 92.08 0.205 40.05 1156.7 -0.6
8 40.7 115.0 92.00 0.205 40.05 1156.7 -0.7
9 40.8 114.9 91.92 0.205 40.05 1156.7 -0.8
0 40.9 114.8 91.84 0.206 40.24 115.5 -0.7
11 41.0 114.7 91.76 0.206 40.24 115.5 -0.8
HKRE ATAEPE
t r In Q
(min) (mm/h) nr (mm/h) (m3/s)

1 40.0 115.8 115.8 115.8 45

2 80.0 85.7 171.4 55.6 2.1

3 120.0 70.3 210.9 39.5 1.5

4 160.0 60.5 2420 311 1.2

5 200.0 53.6 268.0 26.0 1.0

6 2400 484 290.4 22.4 0.9

7 280.0 443 310.1 19.7 0.8







=& Fh -3

W B R KL FWL 52.2|(m)

LS EL 50.0{(m)

=8 IKi%E : H=FWL-EL 2.2|{(m)

#Erk=:Vv 1,500|(m3)

= RFHE=(Costa): Qp 29.49|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.11100|km2

/K ETE: A2 0.00060|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 34| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 34(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 123.3|(mm/h)

HKFEE—Y:Q 2.8|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 3.36|(m3/s)

fOARELERFILITEHRIREL TRKREZRTE

T

o

B [RERE|HKRE|LEMRR= F-1 RHEGRBERIBEHEERC
(min)  [Q1(m3/s)] Q2(m3/s)[Q1+Q2(m3/s) tHhoREE | C | EifiGkm?) i &
0 29.49 2.8 323 Pat;akiii! 70 | 0.00060 A FHES 720 3% i P33
1 9.07 2.8 11.8 (L 290 | 0.08460
2 2.79 2.7 55 KH 100
3 0.86 2.7 35 Bk 200 | 0.02580
4 0.26 2.6 29 Eati 70
5 0.08 2.6 2.7 CEi 0.11100
6 0.02 2.6 2.6 faf ES-25) 268
7 0.01 25 25
8 0.00 2.5 25 THIDRAE f T i &
9 0.00 24 24 JitoXii 1.00 [ 0.0006 A EHEE 720 i 1 P33
10 0.00 24 24 (Lt 0.80 | 0.0846
11 0.00 23 23 KH 0.75 | 0.0000
12 0.00 23 23 B 0.53 | 0.0258
13 0.00 2.3 2.3 FEHh 0.85 | 0.0000
14 0.00 2.2 22 CEi 0.1110
15 0.00 22 22 faf ESF-25) 0.74
16 0.00 2.1 2.1
17 0.00 2.1 2.1 Fx-2 HKEERRE
18 0.00 2.1 2.1 REOHZHEl RARE |AYRERE ogs | BUKEIEESRS B
19 000 20 20 ) r(mm/b) |resfr(mm/m)| " to(min) k e
20 0.00 20 20 1 340 123.3 91.24 0.206 34.04 123.2 0.1
_/ _— e U < 2 341 1231 91.09 0.206 34.04 123.2 -0.1
3 342 123.0 91.02 0.206 34.04 123.2 -0.2
n %‘ 4 343 122.9 90.95 0.206 34.04 123.2 -0.3
C 5 344 122.7 90.80 0.206 34.04 123.2 -0.5
6 345 122.6 90.72 0.206 34.04 123.2 -0.6
7 34.6 122.5 90.65 0.207 34.2 123 -0.5
8 34.7 122.3 90.50 0.207 34.2 123 -0.7
9 348 122.2 90.43 0.207 34.2 123 -0.8
0 349 1221 90.35 0.207 34.2 123 -0.9
11 35.0 121.9 90.21 0.207 34.2 123 -1.1
HKRE ATAEPE
t r In Q
(min) (mm/h) nr (mm/h) (m3/s)
1 340 123.3 123.3 123.3 2.8
2 68.0 924 184.8 61.5 1.4
3 102.0 76.3 228.9 441 1.0
4 136.0 65.9 263.6 34.7 0.8
5 170.0 58.5 2925 28.9 0.7
6 204.0 53 318.0 25.5 0.6
7 238.0 48.6 340.2 22.2 0.5
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B [RERE|HEKRE|LEMNRRE F-1 RHGREfETBEEELRC
=B KiFE &% (min)  [Q1(m3/s)[ Q2(m3/s)[Q1+Q2(m3/s) tHRRE | C | EAiGm2) %
B KL FWL 30.2|(m) 0 25.39 0.3 25.7 ptabiil 70 | 0.00080 R FHEEH - i i P33
HlS EL 28.1{(m) 1 6.36 0.3 6.7 LI 290 | 0.00720
1= Ki%E : H=FWL-EL 2.1|(m) 2 1.59 0.3 1.9 7k H 100
RETKE:V 1,100{(m3) 3 0.40 0.3 0.7 Bl 200
At 2(Costa): Qp 25.39((m3/s)  |Qp=325(H-V)** 4 0.10 0.3 0.4 EHl 70
TISEHE:A 0.00800|km2 5 0.02 0.3 0.3 A 0.00800
WKEE: A2 0.00080|km2 6 0.01 0.3 0.3 TETY 268
r=a/(t"+b) 7 0.00 0.3 0.3
i A = &R BE 8 0.00 0.3 0.3 otk | f i i %
ErRsEE KN 0.687 9 0.00 0.2 0.2 pietatiil 1.00 | 0.0008 BFHEEH 7eb R P33
EREERa 2541.05 10 0.00 0.2 0.2 (L1 0.80 | 0.0072
ErsEERX b 9.34 11 0.00 0.2 0.2 KH 0.75 | 0.0000
DHRE TR 16(4> A 2| 000 02 02 e | 059 | 00000
LA 13 0.00 0.2 0.2 Bt 0.85 | 0.0000
REENZERE to 16|43 f&%@rugag%t;%o 14 000 02 02 il 000
HYUET 15 0.00 0.2 0.2 i 0.82
B ER R R DR FRIRE ¢ 158.2|(mm/h) 16 0.00 0.2 0.2
BKREE—Y:Q 0.3|(m3/s) |1/3.6-f-r-A 17 0.00 0.2 0.2 R-2 HKEERR
BREHHOKIREN.2Q 0.36{(m3/s) 18 0.00 0.2 0.2 REOTEREl EWEE |AURRME oz |BUKEIERSRS
19 0.00 0.2 0.2 1(%3) rmm/h) |re=fermm/m)| " to(min) k
20 0.00 0.2 0.2 1 16.0 158.2 129.72 0.182 16.86 155.9
2 16.1 158.0 129.56 0.182 16.86 155.9
3 16.2 157.7 129.31 0.182 16.86 155.9
4 16.3 157.4 129.07 0.182 16.86 155.9
5 16.4 157.1 128.82 0.183 16.95 155.6
6 16.5 156.8 128.58 0.183 16.95 155.6
7 16.6 156.6 128.41 0.183 16.95 155.6
8 16.7 156.3 128.17 0.183 16.95 155.6
9 16.8 156.0 127.92 0.183 16.95 155.6
10 16.9 155.7 127.67 0.183 16.95 155.6
11 17.0 155.5 12751 0.183 16.95 155.6
x-3 HKRE-AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 16.0 158.2 158.2 158.2 0.3
2 320 126.1 252.2 94.0 0.2
3 480 107.5 3225 70.3 0.1
4 64.0 95 380.0 57.5 0.1
£ 5| 800 85.7 4285 485 0.1
:S‘**'“: 6 96.0 78.6 4716 431 0.1
~ '—/; “ 7| 1120 72.8 509.6 380 0.1
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Vit O R LEE T LLI4#ENO.1 e

BB K 5L : FWL 26.6|(m)

LS EL 23.0{(m)

=8 IKi%E : H=FWL-EL 3.6({(m)

WETKE:V 2,500{(m3)

B A E(Costa): Qp 44.94((m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.05300 |[km2

/K ETE: A2 0.00060|km2

r=a/(t"+b)

1 ARE AR BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 29|19 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 29(4> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 130.7{(mm/h)

HKFEE—Y:Q 1.5((m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 1.8/(m3/s)

IL#ENo. . UF1No.2, B4 ithBL BhIELR E SH R IR

TLWSRIHIEREA

HEFE-OMTRICE, =HOMELTRASN
BREINTLS, BBAIER
FEIR, RELEVDEDOD., ERASTAL
=2 WEFICKYBKLTOKANEETRA
RETHLDEBEL. EOTHRADFRHE
FERMODRAEICIECTRELT =,

/

i [REBRE|HKRE|DEMRRE
(min)  [Q1(m3/s)] Q2(m3/s)[{Q1+Q2(m3/s)
o 4494 15 46.4

1 15.28 1.5 16.8

2 5.20 1.5 6.7

3 1.77 1.4 3.2

4 0.60 1.4 20

5 0.20 1.4 1.6

6 0.07 1.4 1.4

7 0.02 1.3 1.4

8 0.01 1.3 1.3

9 0.00 1.3 1.3

10 0.00 1.3 1.3

11 0.00 1.2 1.2

12 0.00 1.2 1.2

13 0.00 1.2 1.2

14 0.00 1.2 1.2

15 0.00 11 1.1

16 0.00 1.1 1.1

17 0.00 11 1.1

18 0.00 11 1.1

19 0.00 1.0 1.0
20 0.00 1.0 1.0

oA
=

KON

7

Al

ich

F-1 RHEGRBIERE RS ERC

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00060 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.05240
7KH 100
M 200
E 70
aFt 0.05300

faf ES-25) 288

IR RE f i i &
Pat;akiii! 1.00 | 0.0006 A FHEEH 720 M | P33
(L 0.80 | 0.0524
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0530

faf ESF-25) 0.80

F&-2 HOKEERR]

mrosent| AWAE |AnkmmE]  [MKkEEs _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 29.0 130.7 104.56 0.196 29.58 129.7 1.0
2 29.1 130.5 104.40 0.197 29.73 129.5 1.0
3 29.2 130.3 104.24 0.197 29.73 129.5 0.8
4 29.3 130.2 104.16 0.197 29.73 129.5 0.7
5 294 130.0 104.00 0.197 29.73 129.5 0.5
6 295 129.9 103.92 0.197 29.73 129.5 04
7 29.6 129.7 103.76 0.197 29.73 129.5 0.2
8 29.7 129.5 103.60 0.197 29.73 129.5 0.0
9 29.8 1294 103.52 0.197 29.73 129.5 -0.1
10 29.9 129.2 103.36 0.197 29.73 129.5 -0.3
11 30.0 129.1 103.28 0.197 29.73 129.5 -04
=-3 BKRE:-ATHEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 29.0 130.7 130.7 130.7 1.5
2 58.0 99.2 198.4 67.7 0.8
3 87.0 824 247.2 48.8 0.6
4 116.0 715 286.0 38.8 0.5
5 145.0 63.7 3185 32.5 0.4
6 174.0 57.8 346.8 28.3 0.3
7 203.0 53.1 371.7 24.9 0.3
E1i-48




BRE [ DEMRABQIM/s)|trrsonsrs | v i~ommis| By Lgns F-1 RHEGRBERBEHEERC
=ML 2RI N BE (min) | IU#%&No.1 | ILEENO.2|Q1+q2(m3/s) LHIOWREE | C | EREkm) i &
B K AL FWL 0.0{(m) 0 46.44 48.36 948 2325 Jetotii) 70 | 0.0074 BAHEEH - A P33
HhilisEL 0.0{(m) 1 16.76 19.81 36.6 3,941 89.7 L 290 | 0.1326
f=8ith 7K - H=FWL-EL 0.0{(m) 2 6.65 8.22 14.9 1,543 36.5 N 100
#ETKE:V 19,500 |(m3) 3 3.20 3.50 6.7 647 16.4 i 200
& AH = (Costa): Qp 0|(m3/s)  |Qp=325(H-V)** 4 2.00 1.59 3.6 309 8.8 4 70
A 0.07500 |km2 5 1.58 0.80 2.4 179 58 Ak 0.1400
WKEHE: A2 0.00610|km2 6 1.43 0.48 1.9 129 47 T 278
r=a/(t"+b) 7 1.35 0.35 1.7 108 42
ERAREEAR BE 8 1.32 0.29 16 99 3.9 tHiodRE | f i W %
FERsRE N 0.687 9 1.28 0.26 15 95 3.8 Jetotii) 1.00 | 0.0074 FHEEE T M 1 P33
EraERa 2541.05 10 1.26 0.25 15 92 37 i 0.80 | 0.1326
fErRsREb 9.34 1 1.23 0.24 15 89 3.6 N 0.75 | 0.0000
—— 2005 3;:2;%‘%%2;5‘50%%?@ 12 1.21 0.23 14 87 35 sﬁwﬂ 0.53 | 0.0000
LAA 13 1.19 0.22 14 86 35 F 0.85 | 0.0000
REEZERM:tc 30(% f&%@ﬁ%ﬁ%@o 1 116 022 14 & 34 ﬁ\% 0070
VBT 15 1.14 0.21 14 82 3.3 THE T 1.51
B ERRIN OB FREE v 129.1|(mm/h) 16 1.11 0.21 13 80 3.2
HAKREE—Y:Q 4.1|(m3/s) [1/3.6+fr-A 17 1.09 0.20 1.3 78 3.2 T ——
18 1.07 0.19 13 77 3.1
19 1.04 0.19 12 75 30
20 1.02 0.18 12 73 2.9
7,952 -2 K| ERFME
U REDEERM| BFEE |FYVRRRE ogs |PUKEIERRS ~
(%) ri(mm/h) [re=f-ri(mm/h) re te(min) 2 e
1 30.0 129.1 194.94 0.158 24.84 137.9 -838
2 30.1 128.9 194.64 0.158 24.84 137.9 -9.0
3 30.2 128.8 194.49 0.158 24.84 137.9 -9.1
4 30.3 128.6 194.19 0.158 24.84 137.9 -9.3
5 30.4 128.5 194.04 0.158 24.84 137.9 -9.4
6 305 128.3 193.73 0.158 24.84 137.9 -96
7 30.6 128.2 193.58 0.158 24.84 137.9 -9.7
8 30.7 128.0 193.28 0.158 24.84 137.9 -9.9
9 308 127.9 193.13 0.158 24.84 137.9 -10.0
10 309 127.7 192.83 0.159 25 137.6 -9.9
11 31.0 127.6 192.68 0.159 25 137.6 -10.0
=-3 HKRE-ATAEHE
t r In Q
(min) (mm/h) nr (mm/h) (m3/s)
1 30.0 129.1 129.1 129.1 4.1
2 60.0 97.7 195.4 66.3 2.1
3 90.0 81.1 2433 479 15
4 120.0 70.3 281.2 37.9 12
5 150.0 62.6 313.0 31.8 1.0
6 180.0 56.8 3408 27.8 0.9
(C) El+#3Efz SIP4 (C)CORE CORP. (C) E2Fflkis U i il 29 08
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I#ENo.1
RBr7KE2,500m3

I#ENo.2
BF7KE3,200m3
i E#80.065km2

BEKE#E 6,100m3(X L&A
EHRKAIFE32MmERTE
BF7/K = =6,100m2 X 3.2m=19,520m3
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Vit O R LEE T LL#%NO.2 &z

BB K 5L : FWL 31.2|(m)

LS EL 27.9{(m)

=8 IKi%E : H=FWL-EL 3.3|(m)

WETKE:V 3,200({(m3)

= RFHE=(Costa): Qp 48.06|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.06300 |km2

/K ETE: A2 0.00070|km2

r=a/(t"+b)

1 F R = £181Fr BE

ErRsEE KN 0.687

ErREE R 2541.05

ErsEERX b 9.34
F-2Tri-r2hoh &

AR E B BF et 30| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 30(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 129.1{(mm/h)

HKFEE—Y:Q 1.8/(m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 2.16|(m3/s)

tU#%ENo. . L% 1No.2, FE/ thED BB IR I SR IR

~

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 48.06 1.8 48.4
1 19.52 1.8 19.8
2 7.93 1.7 8.2
3 3.22 1.7 3.5
4 1.31 1.7 1.6
5 0.53 1.7 0.8
6 0.22 1.6 0.5
7 0.09 1.6 0.3
8 0.04 1.6 0.3
9 0.01 1.5 0.3
10 0.01 1.5 0.3
1 0.00 1.5 0.2
12 0.00 1.4 0.2
13 0.00 1.4 0.2
14 0.00 1.4 0.2
15 0.00 1.4 0.2
16 0.00 1.3 0.2
17 0.00 1.3 0.2
18 0.00 1.3 0.2
19 0.00 1.2 0.2
20 0.00 1.2 0.2

7

HIKRE X ERILNOIDHKREZZELSIVWVTHEE

— e

e

=

ich

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

TR HE C | EfE(km2) s &
pat:o¥iich 70 0.00130 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.06170
7KH 100
M 200
E 70
aFt 0.06300

faf ES-25) 285

IR RE f i i &
Pat;akiii! 1.00 | 0.0013 A FHEEH 720 M | P33
(L 0.80 | 0.0617
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0630

faf ESF-25) 0.80

F 52

mronEnn] AWAE |ARRmEE| | |JOKEEEE _
t(4) r{(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 30.0 129.1 103.28 0.197 30.56 128.2 09
2 30.1 128.9 103.12 0.197 30.56 128.2 0.7
3 30.2 128.8 103.04 0.197 30.56 128.2 0.6
4 30.3 128.6 102.88 0.198 30.72 128 0.6
5 304 128.5 102.80 0.198 30.72 128 0.5
6 30.5 128.3 102.64 0.198 30.72 128 0.3
7 30.6 128.2 102.56 0.198 30.72 128 0.2
8 30.7 128.0 102.40 0.198 30.72 128 0.0
9 30.8 127.9 102.32 0.198 30.72 128 -0.1
10 30.9 127.7 102.16 0.198 30.72 128 -0.3
11 31.0 127.6 102.08 0.198 30.72 128 -04
#-3 HKRE AIAEFE
t r In Q
(min) (mm/h) nr (mm/h) | (m3/s)
1 30.0 129.1 129.1 129.1 1.8
2 60.0 97.7 195.4 66.3 0.9
3 90.0 81.1 243.3 479 0.7
4 120.0 70.3 281.2 37.9 0.5
5 150.0 62.6 313.0 31.8 0.4
6 180.0 56.8 340.8 27.8 0.4
7 210.0 52.1 364.7 23.9 0.3
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